DATA ANALYSIS HANDOUT

  
Table I
	
	Percent   Turnout      (round to two decimal places)

	COUNTY
	Democrats
	Republicans
	Other

	Allegany
	71.83
	75.52
	56.80

	Anne Arundel
	81.28
	80.91
	71.31

	Baltimore City
	70.47
	57.95
	56.67

	Baltimore
	78.63
	77.05
	65.76

	Calvert
	81.72
	81.67
	70.37

	Caroline
	76.35
	80.19
	62.43

	Carroll
	81.46
	82.96
	72.18

	Cecil
	72.84
	76.06
	64.61

	Charles
	84.57
	78.66
	69.04

	Dorchester
	80.40
	84.00
	64.48

	Frederick
	85.23
	84.65
	76.00

	Garrett
	70.09
	74.92
	58.11

	Harford
	83.20
	85.13
	74.27

	Howard
	86.04
	83.80
	75.89

	Kent
	80.71
	82.55
	66.38

	Montgomery
	82.60
	78.07
	71.26

	Prince George's
	79.74
	66.21
	60.89

	Queen Anne's
	81.78
	84.41
	75.51

	Saint Mary's
	79.15
	79.65
	68.23

	Somerset
	77.22
	81.41
	64.93

	Talbot
	82.51
	85.66
	76.74

	Washington
	74.29
	76.53
	60.38

	Wicomico
	80.70
	84.09
	67.57

	Worchester
	81.11
	84.56
	69.55


1. For which party (or category) did you calculate data? 


2. [image: image2.png]


What is the mean # Voting for that party?


3. What is the median # Voting for that party?

4. What is the mean # Registered for that party?


5. What is the median # Registered for that party?

6. What is the mean % turnout for that party?



7. 
What is the median % turnout for that party?


8. 
Counting all the counties in the state, how many total people were registered in that party?  
Hint: Look at [image: image1.png]


.
9. 
Counting all the counties in the state, of how many total people voted in that party?




10. Use Questions 8 and 9 to complete Table II.  Use the class data to get results for all categories.
Then calculate the % Turnout.
  
Table II
	
Party
	
# Voted
	
# Registered
	% Turnout
(rounded to 2 decimal places)

	Democrats
	1,540,988
	1,945,312
	79.22%

	Republicans
	731,195
	926,399
	78.93%

	Unafilliated/Other
	379,245
	557,225
	68.06%

	Total For All Parties
	2,651,428
	3,428,936
	77.33%


Use Table II to answer the following questions.

11. Report the percent of voter turnout for all registered voters together _____77.33%_________

12. Report the total number of registered voters in Maryland. __3,428,936_____
13. Of all registered voters, how many voters  were



Democrat  1,945,312
 Republican 926,399
   Other  557,225

14. Of all registered voters, how many voters did not vote? 777,508
15. Of all registered voters, what percent of the voter turnout was

 
Democrat
44.94%
Republican
21.32%
Other
11.06%
16. Of all registered voters, what percent did not vote?    22.68% 
17. [image: image3.png]
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Use your answers to the above to complete these tables.
 
  

RETURN TO ACTIVITY SHEET

18. Explain the notation in cell one of L4. ( 
1.54E6 =1.5 x 106 is scientific notation for 1,540,988
19. Draw the Pie Chart for the data in Table III. Label sections with number of voters.


[image: image5.png]



20. Draw the Pie Chart for the data in Table IV. Label the sections with the percent of voters.

[image: image6.png]



21. Identify the following values for # Voted box plot.

	
	Lower Extreme
	Lower Quartile (Q1)
	Median
	Upper Quartile (Q3)
	Upper Extreme

	Dem
	3,597
	8,801
	19,911.5
	63,396.5
	307,668

	Rep
	3,306
	10,211.5
	18,017
	45,616
	101,608

	Other
	1,037
	3,034.5
	7,349.5
	21,677.5
	84,118


22. Identify the following values for # Registered box plot.

	
	Lower Extreme
	Lower Quartile (Q1)
	Median
	Upper Quartile (Q3)
	Upper Extreme

	Dem
	5,132
	10,783
	24,913
	74,751
	385,852

	Rep
	4,061
	12,163
	22,467
	54,703
	131,875

	Other
	1,597
	4,051.5
	11,084
	30,399
	118,041


23. Each area of the box plots contains the same number of data items. Why is each area a different size?

___The spread between the data items determines the size of each area of the boxplot__
  ______________________________________________________________________________

______________________________________________________________________________
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Which group (# Voted or # Registered) for your party has the largest …

a. range? ____________
b. interquartile range? ___________

c. median? __________________
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		Table III


�Party�
�Number of People�
�
Democrats who voted�
1,540,988�
�
Republicans who voted�
731,195�
�
Unafilliated/Other who voted�
379,245�
�
Registered but who did not vote�
777,508�
�
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		Table IV


�Party�
�Percent of all who voted�
�
Democrats�
44.94%�
�
Republicans�
21.32%�
�
Unafilliated/Other�
11.06%�
�
Not Voted�
22.68%�
�






#Voted has a larger range (Xmax-Xmin) than # Reg. �The width of the box gives the Interquartile Range (IQR), and # Reg is larger than #Voted.  This is Q3-Q1, which we can compute using Question 23 and 24:


IQR for #V is 45,616-10,211.5 = 35,404.5�IQR for #R is 54,703-12,163 = 42,540
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